
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice)
- Looking at them as little as possible, answer the questions.

The answers to the Week 7’s questions should be handed to me at the beginning of the lecture of April 11th. They should be manuscript (not typewritten) and preferably based on schemes (as I do on the whiteboard). Keep a copy for yourself.

Please write WEEK 7 in bold at the beginning of your answers.

Week 7: Ch 6: Replacement of MP by FP
1st part of the lecture

1.Explain the three elements of the alternative policy architecture.

In the following questions, consider the circular flow of expenditure-output-income presented in the lecture, with two differences: an initial level of investment of 25€ and a saving rate of 0.25. (Initially C + I = AD = 100€, corresponding to E0).

2 a) What would have been the effect of a decline of investment from 25€ to 20€ on the levels of output, income, consumption and saving had it not been for the Japanese government’s full-employment policy? Explain.

b) In this case, what determines the amount of saving? Explain.

c) Explain why S > I leads to a decline in AD month after month.

d) Between E0 and E1, income falls month after month. What is the mechanism behind this?
3. The Japanese government injected 5€ of expenditure. Comparing with the previous case:

a) What was the effect on output, income and consumption? Explain.

b) What was the effect on saving? Explain.

c) Was the effect on the public debt equal, bigger or smaller than the effect on the stock of private savings? Explain.

4. Under the policy framework in which MP is replaced by FP:

a) What does the government do to fund a deficit?

b) In which case will private savers choose to fund the government?

d) Would private investors ever buy bonds which offer no real return? Explain.

5. a) What is the effect of an (unexpected) increase in CB interest rates on the supply of long term government bonds in the secondary market?

b) Why do long-term bonds currently carry a market risk?
6. Under the policy framework in which MP is replaced by FP, what is the effect of a sudden increase in the supply of long-term government bonds in the secondary market on the price of those bonds? Explain.

7. Under the alternative policy framework, would long-term government bonds imply:

a) Market risk? Explain.
b) Default risk? Explain.

2nd part of the lecture

8. a) How has Japan kept the economy near full-employment over the past 25 years? Explain using the circular flow of expenditure-output-income.
b) What was the effect on the debt-to-GDP ratio?

c) Could have this led to a high tax rates under the standard policy architecture? Explain.
d) The same question under the alternative policy architecture.

9.  If the debt-GDP ratio rises to very high levels, savers may initiate massive sales of B10 in the secondary market.

a) Why?

b) “Under the current policy architecture, the result may be a default.” Do you agree? Explain.

10. If the debt-GDP ratio rises to very high levels and, as a result, savers may initiate massive sales of B10 in the secondary market.

a) What will happen under the alternative policy architecture? Present the operations between the parties involved and the corresponding effects on their balance-sheets.

b) What will then be the effect of the sell-off of B10 on their prices and interest rates?

c) What will be the final result on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?
11. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to redeem its old bonds.
a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved and the corresponding effects on their balance-sheets.

c) What will be the final result on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?

12. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to fund a new deficit.
a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved and the corresponding effects on their balance-sheets.

Key note: there is a difference here in relation to 10b) and 11b). 
Now the CB does not send a check to savers in exchange for their bonds. Instead, it allows the government to make expenditures, say 10€, with a CB check. 
Those expenditures generate revenues for the firms who sell the goods to the government and thereby create incomes in the private economy. As seen before the break, those extra incomes produce extra savings equal to the expenditure of the government funded with the CB check. It is for this reason that, in the scheme used in the lecture, savers deposit the CB check of 10 euros in their banks, without having received it (directly) from the CB.
And this shows a key idea: the government funds its deficit in the first instance with a CB check (and ultimately with newly printed monetary base) – not by selling bonds to savers.  So, the funding of the deficit does not require prior savings. On the contrary, it is (the funding of) the deficit that creates savings (in the form of checkable deposits, not bonds)!
c) What will be the final result of b) on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?

13. If the debt-GDP ratio rises to very high levels, savers may (1) initiate massive sales of B10 in the secondary market, may refuse to buy new bonds issued by the government to (2) redeem its old bonds and (3) to fund a new deficit, the balance-sheets of the three parties involved will be affected.

    a) Present the changes in those balance-sheets.
    b) What will happen to the stock of existing B10 and to the quantity of money in circulation? Explain.

   c) What will happen to the quantity of bank reserves? Explain.

   d) Banks will be left with excess reserves. Why?
Given the results just obtained, answer the following questions: 

14. Will the resulting excess reserves lead to an expansion in bank credit? Explain.
15. a) Which were the three determinants of aggregate consumption mentioned at the end of the lecture?
b) The dramatic increase in the quantity of money will not lead to an increase in consumption. Why?
16 a) “The dramatic increase in the quantity of money may lead to a strong rise in the purchase of houses and stocks by households and businesses.” Why?

b) The dramatic increase in excess reserves may lead to a strong rise in the purchase of houses and stocks by banks. Why?

c) “As a result of a) and b), asset bubbles are inevitable.” Do you agree? Explain.
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